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a=[246;356;10-10];
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b=[-100;211;003];
c=(2*a ./ (b+1)) .~ 2
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a) ki=[1,2];k2=[2,3]; b=a(k1,k2);
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a=[1:10]; b=a([1111111111],)
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d=b(4:9,3:8)
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g) n=a([111],:)
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.clear all

.close all

.b=input ('pls inter your courses and
vaheds
. 3calculate moadel
.m=b(:,1) .*b(:,2);
.vahed=sum(b(:,2)) ;
.moadel=sum(m) /vahed;

")

fprintf ('your average is =

%g\n' ,moadel)

12.

13. fprintf('and you have %g
vahed' ,h wvahed)



14, % disp('your average is = ')
15. % disp (moadel)

16. % disp('and you have passed ')
17. % disp (vahed)

18. % disp('vahed')
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x1=0,0.1,...... 2pi  x2=0,0.1,...... 10000
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(<l
x1=0:0.1:2*p3i;
x2=0:0.1:10000;
yl=atan(sin(sqrt(sqrt(xl)))) .”6;
y2=sqgrt(sind (45)) ./logl0 (x2) ;
(<

X=input('enter x');
yl=atan(sin(sqrt(sqrt(X)))) .”*6;
y2=sqrt (sind (45)) ./1logl0 (X) ;
plot(X,yl,'r' , X,y2)



clc

clear all

a=input('enter a');
b=input('enter b');
c=input('enter c');

fprintf ('a=%g b=%g c=%g\n',a,b,c)
if a<b

t=b;
b=a;
=t;
end
if a<c
t=a;
a=c;
=t;
end
i1f b<c
t=c;
c=b;
=t;
end

fprintf ('sort numbers: %g %g %g',a,b,c)

clc

clear all

base pay=input('enter base pay');
family=input ('enter family number') ;



overtime work=input('enter over time
work') ;

if family<= 4

family benefit=20000;

else

family benefit=(family-4)*1500+20000;
end

if overtime work<=20
overtime work pay=overtime work*1000;
else
overtime work pay=(overtime work-

20) *500+20*1000;

end

payment=base pay+family benefit+overtime
work pay;

if payment<=100000

tax=0;
elseif payment<=500000 &
payment>100000

tax=(payment-100000) *.1;
elseif payment<=1000000 &
payment>500000
tax=(payment-500000) *.15;
else
tax=(payment-1000000) *.2;
end

net payment=payment-tax;



fprintf ('base payment is %g toman \n and
net paymnet is %g
toman\n',base_pay,net_payment)
fprintf('tax is %g toman\n and overtime
work pay is %g toman\n family benefit is
%g toman

', tax,overtime work pay,family benefit )



